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Arc Length: s=r0, Area of a Sector: A= 5;’29 . Convert degrees to radians: ﬁ

0

Convert radians to degrees:
T

Angle Sum Formulas
sin(u+v)=sin(u)cos(v)+sin(v)cos(u)
cos(u+v)=cos(u)cos(v)—sin(u)sin(v)
tan(u)+ tan(v)

tan(u+v)=W

Pythagorean Identities

sin®(x)+ cos®(x) =1

tan’ (x)+1=sec’(x)
cotz(x)+1 = cscz(x)
Radians without 7
1.570796327
3.141592654 6.283185308

4.712388981

sin(2u) = 2sin(u)cos(u),

Double-Angle Formulas:

2 tan(u) _ sin(2u)
1—tan®(u) cos(2u)

tan(Zu):

Half-Angle Formulas:

sin(zj=i 1-cos(u)

2 2

cos{ujz N 1+ cos(u)
2 2

. u
u) 1-cos(u) sm(zj
tan| — |= - =
2 sin(u) u
COS
2
Product-to-Sum Formulas
|
sinusiny = 7Icos(u v) = cos(u + v)]
cos(u + v)]

|
CosSuUCosSV = ,}[cm(u v) 4

1
sin u cos v = —[sin(u + v) + sin(u — v)]
ol

cos(2u) = cos’ (u)—sin’(u)=2cos’ (u)-1=1-2sin’ (u)

Power-Reducing Formulas:

sin’ (u) = 1—cos(2u)
2
COSZ(u):%

_ 1-cos(2u) _ sin” (u)
1+cos(2u) cos®(u)

tan” (u)

Sum-to-Product Formulas

. i Cfutv u— v\
sinu + siny = 2 hlll( S| cos| 7 '

u+v u V
cosu + cosv = 2cos cos| ————
2 2

Cfu+vy . fu—v
cosu — cosv = —2sin("- sin .
\ 2 2
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Product-to-Sum Formulas

. . I
sin u sin v = ;[cos{u — v) = cos(u + v)]
COS U COS V =

[cos(u — v) + cos(u + v)]

sin u cos v = —[sin(u + v) + sin(u — v)]
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Sum-to-Product Formulas

) L y i (u - 1’) (u — 1')
sinw + siny = 2 sin cos
2 2

u+v u—=vw
cosu + cosv = 2cos > Ccos >

5 i u+vy  fu—v
0S U — COsS vV = —2sin sin
COSU — C > "

-
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Solve the multiple-angle equation. (Enter your answers as a comma-separated list. Use n as an integer constant. Enter
your response in radians.)

2sin(5x)+ /3 =0 P/\‘,Lu T.as—” #22

f)_ sv'._ (g") = ’(3-

_\3
s (s ="72

)[I -3
<x= 0 4 60° :é.uoa w/ - 3

Y= ?.60°—'"o° = é"o‘,}(g) - i;—
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x= 29
Solve the equation. (Enter your answers as a comma-separated list. Use n as an integer constant. Enter your response in
radians.) “ Jec [

= 4= 0 4o 3 e
tan?(x) + tan(x) -6 =0 , Let u= &) Thew N " c &
— anG-‘S sSpec b
WZru-b = eDlu- =2 T +
O’
—_— Thay

o u_'),—_b

w+3d =0 E_*m A.”\gueis

Yo () = =3 ke 60 =2
u= *) =

-‘:a..."' o) +de () -2 =0
(L e >+ (b D =3N= D
o0 -,,——-\_(K\: 3

Lo )= -4
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gie (W eos (40 F cosC) s Cix) = s (5%)

\Iﬁ-’ _ (l + eos @Y i+eos O
(l-—wse) ( 1+ ¢0s&)

o | | 4+ cosB
\ &’fe'?— \44—@95 = /"—’_
- _____(._:-—-—""' :'":;-’ l5v-e/

T8
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290
( ccos (3x) - oncton (¥)> = ess (u-V) ,u)l\y"
coes| o N "= a/\ct.of(;x) 4
W - v N—= Mc.“h—/x) .

P )

Wb do s (usv)

e eck!

_.V\ = oS (u.-l— (—v)) S é )

cosCu \
= c,os(u-) Css[—v\ - s=G) ;w(_.,

¢cos (.u-\ tos (v

eos (M( eo$ (3 Lo S(MC-LM

] R Mp_l.av\. (YJ ot
arc oS &

\ + SUL(M\SI;(I/)

-
-
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50 (oouw_M)

\isf—\ (13) s< &) = \&¢956<) —7

A st lx)esgbe) s (x) =cog (XY =7

—
A $> 6D eos () — cos(x) =
= —
cos() (’J-swq'é‘a’ ) =0
260 2 |
Cos ()= S‘:‘-’L (= - N ‘
L == 3

A
s (A= = —
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- - = G- =25 = ¢

s < (W)= 2sidy)eesGl) ~2 (:":D(—E:

That's not what #33 is asking. It's askiwg5ot to find the sine, cosine
and tangent of the DOUBLE ANGLE.

Read the question more carefully,
Steve.
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